M512AB303HN-VB3-

Price
Configuration

Lead time

Type: M

Size: 512A

Input: 132 B14 2200

Output shaft/bore: 230

Mounting: B3

Mounting position: B3

Input bore: -

Coupling: -

Terminal box position: A
Technical data

Input rpm (ny): 1400 min™

Output rpm (n,): 279.20 min*!

Ratio (i): 5.01 (03)

Nominal power (P1R): 6.40 kW

Nominal torque (MyR): 210 Nm

Dynamic efficiency (RD): 96%
Selection Direction of rotation

Motor power (Pyy): 5.50 kw

Output torque (Myy): 176 Nm

Service factor (f.s.): 1.2
Lubrication

Oil quantity: 0.70l1

AGIP: Telium VSF 320

SHELL: Omala S4 WE 320

On our website

Axial and radial loads

Features

How to order

Dimension
Accessories/options
Electric motors

Selection guide - fs
Mounting pos. - lubricant
Calc. the overhung load

Note

Input shaft

Atex certification n,

Installation check list = (min™?)

Spare parts list . .FR(N) 1400 400 | 2000
Complete catalogue 3 ) 900 440 2200
Selection by power (xls) <= =) 500 | 440 | 2200

F,(N)
SX DX

Output shaft

FR(N).
- "

—h, 200 520 | 2600

Fa(N) | _ 140 | 600 | 3000

250 480 2400

i

120 | 620 @ 3100
85 700 | 3500
Feq=F, 54 70 780 | 3900

X+24 40 900 | 4500

Feq (N)’ 15 | 1000 | 5000
1 1

T




M512AB303HN-VB3-

3D dimensions on the Web

With feet
P512AB1 .. o piean
A
209
standard 6q, r Y
5 |, 50 =
i 7ol H © é
POND .= P— '__—%I;'-'c) =
© 1 O
™ 230 h6
*See the table of output L
shaft for the complete M10x22
list of diameters - Y
G ol
L —>|-L— 3
Feet / piedini
feet| Market | G | H | R L | S | H1| O ol 2onywith Bomax | kit code Other f:aet %re_?vailable,
31213 | 18 | 110 | 160 | 130 | 190 | 211 | 20 | 11 | 10100825 | - | KC50.9.024 E> Sono disponibil altri piedin,
30/35 | 20 | 130 | 180 [149.5|216 | 231 | 18 | 14 | 1513285 - KC60.9.024 consulta il nostro sito web
47-57 | 30 | 115 | 135 | 165 | 170 | 216 | 25 | 14 | § 19901285 - KC50.9.022
L6 023233 | 30 | 130 | 135 | 135 | 185 | 231 | 25 | 14 | 1513285 - | kcs09.025 Aseew‘l’" tpagelb‘:tmm
OSt popular es
523 | 30 | 110 1135-150, 100 | 190 | 211 | 18 | 11 | 1019001285 | KC50.9.023 /Y M i
Output flanges
P512A-F"' flange di uscita K1
8.5 with KC50.9.011 Detail Y i |
25 ]
Pl /< d1 S
—>H<— s ‘(_U =
© \J i
X  Detail Y
57.5| c1
*Available output shaft / Albero di uscita > 51.5 with KC50.9.011
Shaft - d1 1] hi
T 20 ” p8 ™ M1(;( > Available output flanges / flange di uscita
andar 2 X alg b1|c1|el| f1 | s1| kitcode @l
@ 24x50 8 | 27 | M8x19
On request | @ 25x50 8 | 28 | M8x19 160 110] 14 1130 3.5 | 11 |KC50.9.011]
Arichiesta | ©28x60 | 8 | 31 | M8x19 200 130| 13 [165] 3.5] 11 |KC50.9.012 nglgaggfezgg;?e‘
2 35x60 10 | 38 | M10x22 250 180[15.5/215] 4 | 14 |KC50.9.013|Ask for compatibility
Basic gearbox Input Shaft
P512A=N... Rt bace R512A-N... jbero i entrata
Suggested B14
| motor flanges N.5 M10x17
M12x20 221 .50
— Y 40| 5
—>H<— !"/‘= © @ _>H<_
L 87 < < — Y
@%[ iite « (T} ¢ e=lg 3] i ®
N ES %) s & <
3 NN ] . g K
Q
m 63 | 83 M6x16
Fianges | A | Co.. |96 k1 | kitcode |kiuwinkcsosor|l SAAES" | A | C,, 96| k1 | kitcode |k1 wihKC509011
71B5 |227.5/215.3/160] 230 | K023.4.041 236 80 B14 [229.5(195.3|120| 232 | K085.4.046 238
80/90 B5 |229.51235.3|200| 232 | K023.4.042 238 90 B14 [229.5|205.3|140| 232 | K085.4.045 238
100/112 B5 [238.5260.3|250| 241 | K023.4.043 247 100/112 B14{238.5|215.3|160| 241 | K085.4.047 247
132 B5 |259.51285.3/300] 259 | KC51.4.043 265 132 B14 [259.5[235.3|200] 259 | KC51.4.041 265

4-16



http://www.tcpdf.org

	price: 
	time: 


